
• System of linear Equation 

 

 

 

 

a) ELIMINATION METHOD                    b) SUBSTITUTION METHOD  

b) CRAMER’S RULE 

 

 

ELIMINATION METHOD                     

3𝑥1 − 𝑥2 = 1                                                                          𝑥1 + 2𝑥2 = 4 

𝑥1 + 𝑥2 = 3                                                                            2𝑥1 + 4𝑥2 = 12 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 











































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































 

solve the system  

2𝑥 + 3𝑦 = 8 

𝑥 − 2𝑦 = −3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


















































































































































































































































































































































































































































































































































































































































































































































































































DETERMINANTS OF THIRD ORDER 

consisting of nine numbers arranged in three rows and three columns is called a determinant of 

third order. By definition, the value of this determinant is given by 

 

 

 

 

is called the expansion of the determinant 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 


